0000000000000000 (2,3,5,7,11,13,17
0Joooooooo)

gooooood

00 20170 120 80

goon

00 20170 120 80

2,3,5,7,11,13,170 00000000

2,3,5,7,11,13,1700000000000510510n+Q 000

Q=2779570000
P = 510510n + 277957

2P + 1 = 2(510510n + 277957) + 1 = 10210201 + 555914 + 1 = 10210201 + 555915
0000010210200 20 2003,5,7,11,13,17000000 10000000

959915 = 3 x 5 x 37061 x 1

oooo
2P + 1 = 15(68068n + 37061)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOoboDbOoo
good

Q=277961 0000
P = 510510n + 277961

2P 4+ 1 =2(510510n + 277961) + 1 = 10210201 + 555922 + 1 = 10210201 + 555923

0000010210200 20 2003,5,7,11,13,17000000 1000000

555923 =31 x 79 x 227 x 1



0000 102102000000000000000

2P 41 =510510m + 45413

gboboobogobooboboobboobboooboooboon

Q=277969 0000
P = 510510n + 277969

2P + 1 =2(510510n + 277969) + 1 = 10210201 + 555938 + 1 = 10210201 + 555939

0000010210200 20 2003,5,7,11,13,17000000 10000000

555939 =3 x 3 x 223 x 277 x 1

oooo
2P + 1 = 3(340340n + 185313)

gooooooOo3soUobooooooboU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUDoOO
oono

Q=2779730000
P = 510510n + 277973

2P + 1 = 2(510510n + 277973) + 1 = 10210201 4 555946 + 1 = 10210201 + 555947
0000010210200 20 2003,5,7,11,13,17000000 10000000

555947 =7 x 43 x 1847 x 1

ogooo
2P + 1 = 7(145860n + 79421)

o0o0ooooOovyooooO0oOoO0oOoO0oOoO0DOoO0oOoO0oDOOoO0oDOoOODOoOoDOoOODOod
goo

Q=277987 0000
P = 5105100 + 277987

2P + 1 =2(510510n 4 277987) + 1 = 1021020n + 555974 + 1 = 1021020n + 555975

0000010210200 20 2003,5,7,11,13,17000000 10000000

555975 =3 x 3 x5 x5 xT7x363x1

oooo
2P 4+ 1 =105(9724n + 5295)

gooooooOolesboboObboOo00ooOOo0obDOoUOoDOOUDObOObOOoOOOODOoUODOO
good



Q=2779930000
P = 510510n + 277993

2P 4+ 1 =2(510510n + 277993) + 1 = 10210201 + 555986 + 1 = 1021020n + 555987

0000010210200 20 2003,5,7,11,13,17000000 10000000

555987 = 3 x 241 x 769 x 1

oooo
2P + 1 = 3(340340n + 185329)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=2779970000
P = 510510n + 277997

2P 4+ 1 =2(510510n + 277997) + 1 = 10210201 + 555994 + 1 = 1021020n + 555995

0000010210200 20 2003,5,7,11,13,17000000 10000000

955995 =5 x 11 x 11 x 919 x 1

oooo
2P + 1 = 55(18564n + 10109)

O00o0obO0ooos bbb boob0b0oo0bo0oboobobDooDobOoboDbOoo
good

Q=277999 0000
P = 510510n + 277999

2P 4+ 1 =2(510510n + 277999) + 1 = 10210201 + 555998 + 1 = 10210201 + 555999

0000010210200 20 2003,5,7,11,13,17000000 10000000

555999 = 3 x 37 x 5009 x 1

oooo
2P + 1 = 3(340340n + 185333)

000000003 00000000000000000000000000000000000
00O
Q=2780090000

P = 510510n + 278009

2P 4+ 1 =2(510510n + 278009) + 1 = 10210201 + 556018 + 1 = 10210201 + 556019



0000010210200 20 2003,5,7,11,13,17000000 10000000

556019 = 17 x 32707 x 1

oooo
2P + 1 = 17(60060n + 32707)

oobooboooboivyooobobooOooobobooobOoobOo0oboobUoboooobOoobOoo
goog

Q=2730110000
P = 510510n + 278011

2P + 1 = 2(510510n + 278011) 4 1 = 10210201 + 556022 + 1 = 10210201 4 556023
0000010210200 20 2003,5,7,11,13,17000000 10000000

956023 = 3 x 13 x 53 x 269 x 1

oooo
2P +1 = 39(26180n + 14257)

0000000039 0000000000000 000DO00DO00DbO0ODOD0OO0ODODbOODODOD
good

Q=2730170000
P = 510510n + 278017

2P +1 = 2(510510n 4 278017) + 1 = 1021020n + 556034 + 1 = 1021020n + 556035
0000010210200 20 2003,5,7,11,13,17000000 10000000

556035 =3 x5 x 19 x 1951 x 1

oooo
2P + 1 = 15(68068n + 37069)

goodoooOoboobooOooobOoboooUooOUoooDOObDUoOoDOobDOobobooboOooo
goodg

Q=2780210000
P = 510510n + 278021

2P + 1 = 2(510510n + 278021) 4+ 1 = 10210201 + 556042 + 1 = 10210201 + 556043
0000010210200 20 2003,5,7,11,13,17000000 1000000
556043 = 556043 x 1
0000 10210200000000000000

2P 41 =510510m + 45533



gboboobogobogoboboobboobooobooooboon

Q=2780230000
P = 510510n + 278023

2P 4+ 1 =2(510510n + 278023) + 1 = 10210201 + 556046 + 1 = 10210201 + 556047

0000010210200 20 2003,5,7,11,13,17000000 10000000

956047 = 3 x 3 x 31 x 1993 x 1

oooo
2P + 1 = 3(340340n + 185349)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=2780270000
P = 510510n -+ 278027

2P + 1 =2(510510n + 278027) 4+ 1 = 10210201 + 556054 + 1 = 10210201 + 556055

0000010210200 20 2003,5,7,11,13,17000000 10000000

556055 = 5 x 111211 x 1

oooo
2P + 1 = 5(204204n + 111211)

oboobobooosUObUobUobOOoOobo0obU0bDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=2780290000
P = 510510n + 278029

2P 4+ 1 =2(510510n + 278029) + 1 = 10210201 + 556058 + 1 = 10210201 + 556059

0000010210200 20 2003,5,7,11,13,17000000 10000000

956059 = 3 x 7 x 26479 x 1

oooo
2P + 1 = 21(48620n + 26479)

0000000021 0000000000000000000000000000000000
oooo
Q=2780390000

P = 5105100 + 278039

2P 4+ 1 =2(510510n + 278039) + 1 = 10210201 + 556078 + 1 = 10210201 + 556079



0000010210200 20 2003,5,7,11,13,17000000 1000000

556079 = 107 x 5197 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 45569

goboobooobooboboobboobbooboooboon

Q=2780410000
P = 510510n + 278041

2P + 1 = 2(510510n + 278041) 4 1 = 10210201 + 556082 + 1 = 10210201 + 556083
0000010210200 20 2003,5,7,11,13,17000000 10000000

556083 =3 x 3 x 11 x 41 x 137 x 1

oooOo
2P + 1 = 33(30940n + 16851)

gboooooo3dboooobooooobobooobooboobooboboooobOoobOoo
good

Q=2780510000
P = 510510n + 278051

2P 4+ 1 =2(510510n + 278051) + 1 = 1021020n + 556102 + 1 = 1021020n + 556103
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000

956103 = 556103 x 1

o000 10210200 000000000000

2P 41 = 510510m + 45593

ooboobooobooboboobboobboobooobooo

Q=2780530000
P = 510510n + 278053

2P + 1 =2(510510n + 278053) + 1 = 10210201 + 556106 + 1 = 1021020n + 556107

0000010210200 20 2003,5,7,11,13,17000000 10000000

556107 = 3 x 185369 x 1

oooo
2P + 1 = 3(340340n + 185369)



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2780590000
P = 510510n + 278059

2P + 1 =2(510510n + 278059) + 1 = 1021020n + 556118 + 1 = 1021020n + 556119

0000010210200 20 2003,5,7,11,13,17000000 10000000

556119 =3 x 3 x 3 x 43 x 479 x 1

good
2P + 1 = 3(340340n + 185373)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=2780630000
P = 510510n + 278063

2P 4+ 1 =2(510510n + 278063) + 1 = 10210201 + 556126 + 1 = 1021020n + 556127

0000010210200 20 2003,5,7,11,13,17000000 10000000

556127 = 11 x 13 x 3889 x 1

oooo
2P + 1 = 143(7140n + 3889)

000000001430 000000000000000000000000000000000
oooo
Q=2780710000

P = 510510n + 278071

2P 4+ 1 =2(510510n + 278071) + 1 = 1021020n + 556142 + 1 = 1021020n + 556143

0000010210200 20 2003,5,7,11,13,17000000 10000000

556143 =3 X 7 x 71 x 373 x 1

oooo
2P + 1 = 21(48620n + 26483)

oboobOoobo21000b0b00ob00oob0booo0booo0b0o0oboobUobDooobOoobOoo
good

Q=2780770000
P = 5105100 + 278077



2P 4+ 1 =2(510510n + 278077) + 1 = 1021020n + 556154 + 1 = 10210201 + 556155

0000010210200 20 2003,5,7,11,13,17000000 10000000

556155 =3 x 3 x5 x 17 x 727 x 1

oooo
2P + 1 = 255(4004n + 2181)

OO000O00O0OOo2s000000000000DOO00DODOU0DODOO0DbOO00O0OU0ODOUODOO
goog

Q=2780810000
P = 510510n + 278081

2P + 1 = 2(510510n + 278081) 4+ 1 = 10210201 + 556162 + 1 = 10210201 + 556163
0000010210200 20 2003,5,7,11,13,17000000 1000000

556163 = 23 x 24181 x 1

Ooooo 10210200 000000000000

2P 41 = 510510m + 45653

gboboobooobooboboobboobboobooobooo

Q=2780870000
P = 510510n + 278087

2P + 1 = 2(510510n + 278087) + 1 = 10210201 + 556174 + 1 = 10210201 + 556175
0000010210200 20 2003,5,7,11,13,17000000 10000000

556175 =5 x 5 x 22247 x 1

oooo
2P + 1 = 5(204204n + 111235)

obobobooosUOb0obUobOOobobo0obOobDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=2780930000
P = 510510n + 278093

2P 4+ 1 =2(510510n + 278093) + 1 = 10210201 + 556186 + 1 = 1021020n + 556187

0000010210200 20 2003,5,7,11,13,17000000 1000000

556187 =19 x 73 x 401 x 1



0000 102102000000000000000

2P 41 =510510m + 45677

gboboobogobooboboobboobboooboooboon

Q=278099 0000
P = 510510n + 278099

2P + 1 =2(510510n + 278099) + 1 = 10210201 + 556198 + 1 = 10210201 + 556199

0000010210200 20 2003,5,7,11,13,17000000 10000000

556199 =7 x 7 x 11351 x 1

oooo
2P + 1 = 7(145860n + 79457)

goooooogvoUoooOoooOoobOOoU0OOoU0bDOoUDOOoUobDOoUobOOUDbDOOobDbOUODoOO
oono

Q=2781010000
P =510510n + 278101

2P + 1 = 2(510510n + 278101) 4 1 = 10210201 + 556202 + 1 = 10210201 + 556203
0000010210200 20 2003,5,7,11,13,17000000 10000000

556203 = 3 x 185401 x 1

ogooo
2P + 1 = 3(340340n + 185401)

g0obOobooo30bobobooooobobooDoobooboboDoboDobooobOobDOooDOoo
goo

Q=2781070000
P = 510510n + 278107

2P 4+ 1 =2(510510n + 278107) + 1 = 1021020n + 556214 + 1 = 10210201 + 556215

0000010210200 20 2003,5,7,11,13,17000000 10000000

556215 =3 x5 x 11 x 3371 x 1

oooo
2P + 1 = 165(6188n + 3371)

goooooboOoles0obOOOO00ODOO0ODOODOUODOODbDOOOOOUODOUODOO
good



Q=2781110000
P = 5105100 + 278111

2P + 1 = 2(510510n + 278111) 4 1 = 10210201 + 556222 + 1 = 10210201 + 556223
0000010210200 20 2003,5,7,11,13,17000000 10000000

556223 =17 x 32719 x 1

oooo
2P +1 = 17(60060n + 32719)

goodoOooOolvooooO0ooUOobOO0bOOoOooU0OoOUOoOOoDOOobDOOoDOobDOobOoOooOooo
goog

Q=2781190000
P =510510n + 278119

2P + 1 = 2(510510n + 278119) + 1 = 10210201 + 556238 + 1 = 10210201 + 556239
0000010210200 20 2003,5,7,11,13,17000000 10000000

556239 =3 x 79 x 2347 x 1

oooOo
2P + 1 = 3(340340n + 185413)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=2781230000
P = 510510n + 278123

2P + 1 = 2(510510n + 278123) + 1 = 10210201 4 556246 + 1 = 10210201 + 556247
0000010210200 20 2003,5,7,11,13,17000000 1000000
556247 = 41 x 13567 x 1
0000 10210200000000000000
2P + 1 = 510510m + 45737

gbobogobooobooboboobboobbooobuooooboon

Q=2781290000
P = 510510 + 278129

2P 4+ 1 =2(510510n + 278129) + 1 = 10210201 + 556258 + 1 = 10210201 + 556259

10



0000010210200 20 2003,5,7,11,13,17000000 10000000

556259 = 11 x 61 x 829 x 1

oooo
2P + 1 = 11(92820n + 50569)

oboobooobolnoooobooooobobooobooboobooboboooobOoobOoo
good

Q=2781410000
P = 510510n + 278141

2P + 1 = 2(510510n + 278141) 4+ 1 = 10210201 + 556282 + 1 = 10210201 + 556283
0000010210200 20 2003,5,7,11,13,17000000 10000000

556283 = 7 x 13 x 6113 x 1

oooo
2P +1=91(11220n + 6113)

goooooboOo9lboobooOooUob0oboOooU0oOoUoOoOoDOobDOoOoDOobDOobobOboOooo
good

Q=2781430000
P = 510510n + 278143

2P 4+ 1 =2(510510n + 278143) + 1 = 10210201 + 556286 + 1 = 10210201 + 556287
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

556287 = 3 x 185429 x 1

oooo
2P + 1 = 3(340340n + 185429)

ooobOobooo3oboboboooooboboooobobobDobDobooobOobOobDoo
goo

Q=2781470000
P = 510510n + 278147

2P 4+ 1 =2(510510n + 278147) + 1 = 10210201 + 556294 + 1 = 1021020n + 556295

0000010210200 20 2003,5,7,11,13,17000000 10000000

956295 =5 x 31 x 37 x 97 x 1

oooo
2P + 1 = 5(204204n + 111259)

11



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=2781490000
P = 510510n + 278149

2P + 1 = 2(510510n + 278149) + 1 = 10210201 + 556298 + 1 = 10210201 + 556299
0000010210200 20 2003,5,7,11,13,17000000 10000000

556299 = 3 x 3 x 113 x 547 x 1

oooo
2P + 1 = 3(340340n + 185433)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=2781530000
P = 510510n + 278153

2P 4+ 1 = 2(510510n + 278153) + 1 = 10210201 + 556306 + 1 = 1021020n + 556307
0000010210200 20 2003,5,7,11,13,17000000 1000000

556307 = 29 x 19183 x 1

Ooooo 10210200 000000000000

2P 41 =510510m + 45797

gbbooggbogoboobbugobboobbooobuoonbagn

Q=2781670000
P = 510510n + 278167

2P 4+ 1 =2(510510n + 278167) + 1 = 1021020n + 556334 + 1 = 10210201 + 556335

0000010210200 20 2003,5,7,11,13,17000000 10000000

956335 =3 x 3 x I xHx13x317x1

0ooo
2P + 1 = 195(5236n + 2853)

o00obOO0obOo0D19% 000000000000 boo0oo0oo00oobO0obOobOoDOooDOooboOon
good

Q=2781770000O
P = 510510n + 278177

2P 4+ 1 =2(510510n + 278177) + 1 = 1021020n + 556354 + 1 = 10210201 + 556355

12



0000010210200 20 2003,5,7,11,13,17000000 10000000

556355 =5 x 111271 x 1

oooo
2P + 1 = 5(204204n + 111271)

o0dobOooOOo0os000b0b00O0O00ObO0ODbDObOOObOO0ObDObDObDObOOODbDObDODbDOn
goo

Q=2781830000
P = 510510n + 278183

2P + 1 = 2(510510n + 278183) + 1 = 10210201 4 556366 + 1 = 10210201 + 556367
0000010210200 20 2003,5,7,11,13,17000000 10000000

556367 =7 x 79481 x 1

oooo
2P + 1 = 7(145860n + 79481)

goooooogvooooOoooOoobOoU0OOoU0bDOU0UDbDOoUoDbDOoUobOOUODOOobDOUODOO
oono

Q=278189 0000
P = 510510n + 278189

2P + 1 = 2(510510n + 278189) + 1 = 10210201 + 556378 + 1 = 10210201 + 556379
0000010210200 20 2003,5,7,11,13,17000000 1000000

556379 = 311 x 1789 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 45869

goboobooobooboboobboobboobooobooo

Q=2781910000
P =510510n + 278191

2P + 1 =2(510510n + 278191) + 1 = 10210201 + 556382 + 1 = 10210201 + 556383

0000010210200 20 2003,5,7,11,13,17000000 10000000

956383 =3 x 191 x 971 x 1

oooo
2P + 1 = 3(340340n + 185461)

13



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2781970000
P = 510510n + 278197

2P 4+ 1 =2(510510n + 278197) + 1 = 10210201 + 556394 + 1 = 1021020n + 556395

0000010210200 20 2003,5,7,11,13,17000000 10000000

556395 =3 X5 X 7T X7 x 757 x 1

oooo
2P 4+ 1 =105(9724n + 5299)

go0obOobOools0ob0oo0oo0o0oooboobooOooOob0oobOobOobOoDOooboDOoboon
good

Q=12782030000
P = 510510n + 278203

2P 4+ 1 =2(510510n + 278203) + 1 = 10210201 + 556406 + 1 = 10210201 + 556407

0000010210200 20 2003,5,7,11,13,17000000 10000000

556407 =3 x 3 x 211 x 293 x 1

oooo
2P + 1 = 3(340340n + 185469)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=2782070000
P = 510510n + 278207

2P + 1 = 2(510510n + 278207) + 1 = 10210201 + 556414 + 1 = 10210201 + 556415
0000010210200 20 2003,5,7,11,13,17000000 10000000

556415 =5 x 19 x 5857 x 1

oooo
2P + 1 = 5(204204n + 111283)

o0obOoboOo0os0b0b0bO0o0OU0o0b0bDO0obOUoObO0ObUOobOOobDOobO0OOobUobDOobDOoo
goo

Q=2782090000
P = 5105100 + 278209

14



2P 4+ 1 =2(510510n + 278209) + 1 = 10210201 + 556418 + 1 = 10210201 + 556419

0000010210200 20 2003,5,7,11,13,17000000 10000000

556419 = 3 x 31 x 31 x 193 x 1

oooo
2P + 1 = 3(340340n + 185473)

go0oo0oooOo300boo0oo0ooU0ooU0bDOoUDOOoUDOoUbObOUDOOobDbOUDoOO
goo

Q=2782190000
P =510510n + 278219

2P + 1 = 2(510510n + 278219) + 1 = 10210201 + 556438 + 1 = 10210201 + 556439
0000010210200 20 2003,5,7,11,13,17000000 10000000

556439 = 13 x 23 x 1861 x 1

oooo
2P + 1 = 13(78540n + 42803)

000000001 3ooobooooooboooobooobOo0oboOobobDoOooDboOooODbOoo
good

Q=2782210000
P = 510510n + 278221

2P + 1 = 2(510510n + 278221) 4+ 1 = 10210201 + 556442 + 1 = 10210201 + 556443
0000010210200 20 2003,5,7,11,13,17000000 10000000

556443 =3 x 3 x 3 x 37 x 557 x 1

oooo
2P + 1 = 3(340340n + 185481)

gooooooOo3oUooooooooboU0oOoU0bOoUbDOoUobOoUobDbOUDbDOoobDboUDoOO
ooo

Q=2782270000
P = 510510n + 278227

2P 4+ 1 =2(510510n + 278227) + 1 = 1021020n + 556454 + 1 = 1021020n + 556455

0000010210200 20 2003,5,7,11,13,17000000 10000000

556455 = 3 x 5 x 37097 x 1

15



oooo
2P + 1 = 15(68068n + 37097)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=2782310000
P =510510n + 278231

2P 4+ 1 = 2(510510n + 278231) 4+ 1 = 10210201 4 556462 + 1 = 1021020n + 556463
0000010210200 20 2003,5,7,11,13,17000000 1000000

556463 = 43 x 12941 x 1

o000 10210200 000000000000

2P 41 = 510510m + 45953

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=2782330000
P = 510510n + 278233

2P + 1 = 2(510510n + 278233) + 1 = 10210201 + 556466 + 1 = 10210201 + 556467
0000010210200 20 2003,5,7,11,13,17000000 10000000

556467 = 3 x 251 x 739 x 1

good
2P + 1 = 3(340340n + 185489)

g0obOobooo30bobobooooobobooDoobooboboDobDobooobOobOobDOoo
goo

Q=2782370000
P = 5105100 + 278237

2P + 1 =2(510510n + 278237) + 1 = 1021020n + 556474 + 1 = 1021020n + 556475

0000010210200 20 2003,5,7,11,13,17000000 10000000

956475 =5 x 5 x 22259 x 1

oooo
2P + 1 = 5(204204n + 111295)

gooooooUdsOoUObOOoO0bOOObOOUObOO0ODbDOU0ODOODOODOODOODOUODOO
goo

16



Q=2782490000
P = 5105100 + 278249

2P + 1 = 2(510510n + 278249) + 1 = 10210201 + 556498 + 1 = 10210201 + 556499
0000010210200 20 2003,5,7,11,13,17000000 1000000

556499 = 383 x 1453 x 1

o000 102102000000000000000

2P 41 =510510m + 45989

gbobooobogobooboboobboobooobuoooboon

Q=278251 0000
P = 510510n + 278251

2P + 1 =2(510510n + 278251) + 1 = 1021020n + 556502 + 1 = 1021020n + 556503

0000010210200 20 2003,5,7,11,13,17000000 10000000

556503 = 3 x 61 x 3041 x 1

oooo
2P + 1 = 3(340340n + 185501)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=2782610000
P =510510n + 278261

2P + 1 =2(510510n + 278261) + 1 = 10210201 + 556522 + 1 = 10210201 + 556523

0000010210200 20 2003,5,7,11,13,17000000 10000000

556523 = 11 x 50593 x 1

oooo
2P + 1 = 11(92820n + 50593)

oobooooobolnoooobooooobobooobooboobUoobooooobOoobOoo
good

Q=2782630000
P = 510510n + 278263

2P 4+ 1 =2(510510n + 278263) + 1 = 10210201 + 556526 + 1 = 10210201 + 556527
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0000010210200 20 2003,5,7,11,13,17000000 10000000

556527 = 3 x 47 x 3947 x 1

good
2P + 1 = 3(340340n + 185509)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=12782690000
P = 510510n + 278269

2P + 1 = 2(510510n + 278269) 4+ 1 = 10210201 + 556538 4+ 1 = 10210201 + 556539
0000010210200 20 2003,5,7,11,13,17000000 10000000

556539 = 3 x 29 x 6397 x 1

oooo
2P + 1 = 3(340340n + 185513)

gooooooOo3soUobooooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
oono

Q=2782790000
P = 510510n + 278279

2P + 1 = 2(510510n + 278279) + 1 = 10210201 + 556558 + 1 = 10210201 + 556559
0000010210200 20 2003,5,7,11,13,17000000 1000000

956559 = 556559 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 46049

goboobooobooboboobboobboobooobooo

Q=278281 0000
P =510510n + 278281

2P + 1 =2(510510n + 278281) + 1 = 10210201 + 556562 + 1 = 10210201 + 556563

0000010210200 20 2003,5,7,11,13,17000000 10000000

956563 =3 x 7 x 17 x 1559 x 1

oooo
2P + 1 = 357(2860n + 1559)
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OO00Oo0oOooOo3rogobodooooooobooooodooobo0ooooooDoooDoog
goog

Q=278287 0000
P = 510510n + 278287

2P 4+ 1 =2(510510n + 278287) + 1 = 10210201 + 556574 + 1 = 1021020n + 556575

0000010210200 20 2003,5,7,11,13,17000000 10000000

556575 =3 x5 x5 x 41 x 181 x 1

oooo
2P + 1 = 15(68068n + 37105)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=12782930000
P = 510510n + 278293

2P 4+ 1 =2(510510n + 278293) + 1 = 10210201 + 556586 + 1 = 10210201 + 556587

0000010210200 20 2003,5,7,11,13,17000000 10000000

556587 =3 x 3 x 61843 x 1

oooo
2P + 1 = 3(340340n + 185529)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=2782970000
P = 510510n + 278297

2P + 1 = 2(510510n + 278297) + 1 = 10210201 + 556594 + 1 = 10210201 + 556595
0000010210200 20 2003,5,7,11,13,17000000 10000000

956595 = 5 x 13 x 8563 x 1

ogooo
2P + 1 = 65(15708n + 8563)

O0oobO0ogoboe 000000000 bObOOObO0OO0ODOO0ODO0ODbDUODUOODbDObODbDOC
good

Q=12783030000
P = 510510n + 278303
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2P + 1 =2(510510n + 278303) + 1 = 1021020n + 556606 + 1 = 1021020n + 556607

0000010210200 20 2003,5,7,11,13,17000000 1000000

556607 = 556607 x 1

o000 10210200000000000000O0

2P 41 =510510m + 46097

gboboobogobogoboboobboobooobooooboon

Q=12783090000
P = 5105100 + 278309

2P + 1 = 2(510510n + 278309) 4 1 = 10210201 + 556618 + 1 = 10210201 + 556619
0000010210200 20 2003,5,7,11,13,17000000 10000000

556619 = 7 x 131 x 607 x 1

oooo
2P + 1 = 7(145860n + 79517)

gooooooboovyoooooooooboooooOoboOobDoobDOoobbOODbDoOOobboUODboO
goo

Q=2783210000
P = 510510n + 278321

2P + 1 = 2(510510n + 278321) 4+ 1 = 10210201 + 556642 + 1 = 10210201 + 556643
0000010210200 20 2003,5,7,11,13,17000000 1000000
556643 = 19 x 29297 x 1
0000 10210200000000000000
2P + 1 = 510510m + 46133

gbooboobooobooboboobboobboooboooboon

Q=12783230000
P = 510510n + 278323

2P + 1 =2(510510n + 278323) + 1 = 10210201 + 556646 + 1 = 10210201 + 556647

0000010210200 20 2003,5,7,11,13,17000000 10000000

556647 =3 x 7 x 13 x 2039 x 1
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oooo
2P + 1 = 273(3740n + 2039)

OO000o0d0ooo2r300000000fd0O00oDooooo0oo0boo0ooooooooDooag
good

Q=2783290000
P = 5105100 + 278329

2P 4+ 1 = 2(510510n + 278329) + 1 = 10210201 4 556658 + 1 = 1021020n + 556659
0000010210200 20 2003,5,7,11,13,17000000 10000000

556659 =3 x 3 x 3 x 53 x 389 x 1

oooo
2P + 1 = 3(340340n + 185553)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

Q=2783390000
P = 5105100 + 278339

2P + 1 = 2(510510n + 278339) 4+ 1 = 10210201 + 556678 + 1 = 10210201 + 556679
0000010210200 20 2003,5,7,11,13,17000000 1000000
556679 = 556679 x 1
0000 10210200000000000000
2P + 1 = 510510m + 46169

gboboobogobogbooboobboobbooobuoooboon

Q=2783470000
P = 5105100 + 278347

2P + 1 =2(510510n + 278347) + 1 = 1021020n + 556694 + 1 = 1021020n + 556695

0000010210200 20 2003,5,7,11,13,17000000 10000000

556695 =3 x 3 x H x 89 x 139 x 1

oooo
2P + 1 = 15(68068n + 37113)

goooooooboobooooobOobooooUoboUoooDOoDOooDOobDOobooboOooboo
good
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Q=2783510000
P = 510510n + 278351

2P + 1 =2(510510n + 278351) + 1 = 1021020n + 556702 + 1 = 1021020n + 556703

0000010210200 20 2003,5,7,11,13,17000000 10000000

556703 =7 x 67 x 1187 x 1

oooo
2P + 1 = 7(145860n + 79529)

goooooogvyoUooOOoO0OOoO0OOoU0OOoU0ODOOU0UDOOoODOoOUObOOUODOUODOOUODbDOO
goo

Q=2783530000
P = 510510n + 278353

2P + 1 =2(510510n + 278353) + 1 = 10210201 + 556706 + 1 = 10210201 + 556707

0000010210200 20 2003,5,7,11,13,17000000 10000000

556707 = 3 x 185569 x 1

good
2P + 1 = 3(340340n + 185569)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=2783570000
P = 510510n + 278357

2P 4+ 1 =2(510510n + 278357) + 1 = 1021020n + 556714 + 1 = 10210201 + 556715

0000010210200 20 2003,5,7,11,13,17000000 10000000

556715 =5 x 23 x 47 x 103 x 1

oooo
2P + 1 = 5(204204n + 111343)

goooooo0ds0U0bO00bOO0ODbOO0OOO0ODOU0UDOUODOUODOUODOUODOUODOO
oono

Q=2783590000
P = 510510n + 278359

2P + 1 =2(510510n + 278359) + 1 = 1021020n + 556718 + 1 = 10210201 + 556719
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0000010210200 20 2003,5,7,11,13,17000000 10000000

556719 = 3 x 19 x 9767 x 1

oooo
2P + 1 = 3(340340n + 185573)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=2783630000
P = 5105100 + 278363

2P 4+ 1 = 2(510510n + 278363) + 1 = 10210200 + 556726 + 1 = 10210200 + 556727
0000010210200 20 2003,5,7,11,13,17000000 1000000

956727 = 556727 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 46217

gbbogobogoboobboobboobboobuoonboob

Q=2783710000
P = 510510n + 278371

2P + 1 = 2(510510n + 278371) 4+ 1 = 10210201 + 556742 4+ 1 = 10210201 + 556743
0000010210200 20 2003,5,7,11,13,17000000 10000000

556743 = 3 x 11 x 16871 x 1

oooo
2P + 1 = 33(30940n + 16871)

oooooooos3ooooooooooooooooooboooooOoboooooboOoooDoobOn
oooo

Q=2783810000
P = 510510n + 278381

2P 4+ 1 =2(510510n + 278381) + 1 = 1021020n + 556762 + 1 = 1021020n + 556763

0000010210200 20 2003,5,7,11,13,17000000 1000000

956763 = 556763 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 46253
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gboboobogobogoboboobboobooobooooboon

Q=1278387 0000
P = 5105100 + 278387

2P + 1 =2(510510n 4 278387) + 1 = 1021020n + 556774 + 1 = 1021020n + 556775

0000010210200 20 2003,5,7,11,13,17000000 10000000

556775 =5 x 5 x 22271 x 1

oooo
2P + 1 = 5(204204n + 111355)

gooooooboOosOoUOoboOoOoboOoOobOOo0bObOO0bO0oDbDOoOoDOOobDbOODOOoDbDbOUODOO
goo

Q=278339 0000
P = 510510n + 278389

2P 4+ 1 =2(510510n + 278389) + 1 = 10210201 + 556778 + 1 = 10210201 + 556779

0000010210200 20 2003,5,7,11,13,17000000 10000000

556779 = 3 x 185593 x 1

oooo
2P + 1 = 3(340340n + 185593)

obobobooo3oboboboooooboboooobobUobooboDoboboobOobDoooo
goo

Q=2783930000
P = 510510n + 278393

2P + 1 =2(510510n + 278393) + 1 = 10210201 + 556786 + 1 = 1021020n + 556787

0000010210200 20 2003,5,7,11,13,17000000 10000000

956787 =7 x 7 x 11 x 1033 x 1

oooo
2P + 1 = 77(13260n + 7231)

oooooooovyrooooooooooboooooboooobooooOooOboooobOboOoooDObOn
oooo

Q=2784010000
P = 510510n + 278401

2P 4+ 1 =2(510510n + 278401) + 1 = 10210201 + 556802 + 1 = 10210201 + 556803
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0000010210200 20 2003,5,7,11,13,17000000 10000000

556803 =3 x 3 x 13 x 4759 x 1

good
2P +1 = 39(26180n + 14277)

obooboooo3ooooooooobobooobooboobooboboooobOoobOoo
good

Q=2784070000
P = 510510n + 278407

2P + 1 = 2(510510n + 278407) + 1 = 10210201 + 556814 + 1 = 10210201 + 556815
0000010210200 20 2003,5,7,11,13,17000000 10000000

556815 =3 x5 x 7 x 5303 x 1

oooo
2P + 1 = 105(9724n + 5303)

gooooooOoles0oboOoOoO0O0oOO0O0oDOoO0oDOOUDObOObDO0O0OO0OODOUODOO
good

Q=2784130000
P = 510510n + 278413

2P + 1 =2(510510n + 278413) + 1 = 10210201 + 556826 + 1 = 10210201 + 556827
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

956827 = 3 x 313 x 593 x 1

oooo
2P + 1 = 3(340340n + 185609)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=2784170000
P = 510510n + 278417

2P 4+ 1 =2(510510n + 278417) + 1 = 10210201 + 556834 + 1 = 1021020n + 556835

0000010210200 20 2003,5,7,11,13,17000000 10000000

556835 =5 x 17 x 6551 x 1

oooo
2P +1 = 85(12012n + 6551)
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OO00OdoOooOos o000 ob0obooboo0oooo0oDoobD0oDOobDOoboooOooog
goog

Q=2784190000
P = 510510n + 278419

2P + 1 =2(510510n + 278419) + 1 = 10210201 + 556838 + 1 = 10210201 + 556839
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

956839 = 3 x 3 x 61871 x 1

ooo0o
2P + 1 = 3(340340n + 185613)

o00b0o0O0o03000b0000000b00obO0oODoO0bO0obOoDOOobODOoO0oOobOobDOoDOn
goo

Q=2784230000
P = 5105100 + 278423

2P + 1 = 2(510510n + 278423) + 1 = 1021020n + 556846 + 1 = 1021020n + 556847
0000010210200 20 2003,5,7,11,13,17000000 1000000

556847 = 83 x 6709 x 1

o000 10210200000000000000O0

2P 41 =510510m + 46337

gboobgobogobogoboboobboobooobuooooboon

Q=2784290000
P = 510510n + 278429

2P + 1 = 2(510510n + 278429) 4+ 1 = 10210201 + 556858 + 1 = 10210201 + 556859
0000010210200 20 2003,5,7,11,13,17000000 1000000
556859 = 556859 x 1
0000 10210200000000000000
2P + 1 = 510510m + 46349

gbobogobogoobooboboobboobbooobuoonooboon

Q=2784310000
P = 510510n + 278431

2P 4+ 1 =2(510510n + 278431) + 1 = 10210201 + 556862 + 1 = 10210201 + 556863
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0000010210200 20 2003,5,7,11,13,17000000 10000000

556863 = 3 x 185621 x 1

oooo
2P + 1 = 3(340340n + 185621)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=1278437 0000
P = 510510n + 278437

2P + 1 = 2(510510n + 278437) 4+ 1 = 10210201 4 556874 + 1 = 10210201 + 556875
0000010210200 20 2003,5,7,11,13,17000000 10000000

55687 =3 x 3 x3x3xHxbxHxhx1lx1

0ooo
2P + 1 = 165(6188n + 3375)

gooOodOoboOoles0dbOOdO0OO0O0ODOO0ODOODOUODOODbDOOO0OOOUODOUODOO
googo

Q=2784410000
P = 510510n + 278441

2P + 1 = 2(510510n + 278441) 4+ 1 = 10210201 + 556882 + 1 = 10210201 + 556883
0000010210200 20 2003,5,7,11,13,17000000 1000000

256883 = 556883 x 1
oooo 10210200 000000000000
2P +1 =510510m + 46373

ooboobooobooboboobboobboobooobooo

Q=2784490000
P = 510510n + 278449

2P 4+ 1 =2(510510n + 278449) + 1 = 10210201 + 556898 + 1 = 10210201 + 556899

0000010210200 20 2003,5,7,11,13,17000000 10000000

956899 =3 x 7 x 23 x 1153 x 1

oooo
2P + 1 = 21(48620n + 26519)
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go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=2784590000
P = 510510n + 278459

2P + 1 = 2(510510n + 278459) 4+ 1 = 10210201 + 556918 + 1 = 10210201 + 556919
0000010210200 20 2003,5,7,11,13,17000000 10000000

556919 = 11 x 197 x 257 x 1

oooo
2P + 1 = 11(92820n + 50629)

gobo0obO0oobOlnoooo0oobO0oobOo0ooObO0ooODOO0o0obO0o0obUobDoOooDbOobODbOoo
good

Q=2784610000
P = 510510n + 278461

2P 4+ 1 = 2(510510n + 278461) 4+ 1 = 10210201 4 556922 + 1 = 1021020n + 556923
0000010210200 20 2003,5,7,11,13,17000000 10000000

556923 = 3 x 185641 x 1

oooo
2P + 1 = 3(340340n + 185641)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=2784710000
P = 510510n + 278471

2P + 1 = 2(510510n + 278471) 4+ 1 = 10210201 + 556942 + 1 = 10210201 + 556943
0000010210200 20 2003,5,7,11,13,17000000 1000000
556943 = 556943 x 1
0000 10210200000000000000
2P + 1 = 510510m + 46433

gbooboobooobooboboobboobboooboooboon

Q=1278479 0000
P = 510510n + 278479

2P 4+ 1 =2(510510n + 278479) + 1 = 10210201 + 556958 + 1 = 10210201 + 556959
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0000010210200 20 2003,5,7,11,13,17000000 10000000

556959 = 3 x 13 x 14281 x 1

ogooo
2P + 1 = 39(26180n + 14281)

o0ooboooo3ooooooooobobooobooobooboobUoboooobOoobOoo
googd

Q=2784830000
P = 510510n + 278483

2P + 1 = 2(510510n + 278483) + 1 = 10210201 4 556966 + 1 = 10210201 + 556967
0000010210200 20 2003,5,7,11,13,17000000 1000000

556967 = 556967 x 1

o000 102102000 000000000000

2P 41 = 510510m + 46457

gboboobogobooboboobboobbooobuoonobaon

Q=278489 0000
P = 510510n + 278489

2P 4+ 1 =2(510510n + 278489) + 1 = 1021020n + 556978 + 1 = 1021020n + 556979
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
556979 = 43 x 12953 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 46469

ooboobooobooboboobboobboobooobooo

Q=2784910000
P = 510510n + 278491

2P + 1 =2(510510n + 278491) + 1 = 10210201 + 556982 + 1 = 10210201 + 556983

0000010210200 20 2003,5,7,11,13,17000000 10000000

556983 =3 X 3 X 3 X T x T x421 x1

oooo
2P + 1 = 21(48620n + 26523)
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go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=2784970000
P = 510510n + 278497

2P + 1 = 2(510510n + 278497) + 1 = 10210201 4 556994 + 1 = 10210201 + 556995
0000010210200 20 2003,5,7,11,13,17000000 10000000

556995 =3 x 5 x 71 x 523 x 1

oooo
2P + 1 = 15(68068n + 37133)

o00o0obO0ooobooobooobOoooOoooObO0ooDOO0o0obO0oOobUobDoooDbOoboDbOoo
good

Q=2785010000
P = 510510n + 278501

2P 4+ 1 = 2(510510n + 278501) 4 1 = 10210201 4 557002 + 1 = 1021020n + 557003
0000010210200 20 2003,5,7,11,13,17000000 1000000

557003 = 29 x 19207 x 1

Ooooo 10210200 000000000000

2P 41 =510510m + 46493

gbbooggbogoboobbugobboobbooobuoonbagn

Q=2785030000
P = 510510n + 278503

2P 4+ 1 =2(510510n + 278503) + 1 = 10210201 + 557006 + 1 = 1021020n + 557007

0000010210200 20 2003,5,7,11,13,17000000 10000000

557007 =3 x 11 x 16879 x 1

oooo
2P + 1 = 33(30940n + 16879)

0000000033 000000000boo0oo0bo0oo0Do0obD0o0obobDoOooDbOooODbOon
good

Q=2785070000
P = 510510n + 278507

2P 4+ 1 =2(510510n + 278507) + 1 = 1021020n + 557014 + 1 = 1021020n + 557015
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0000010210200 20 2003,5,7,11,13,17000000 10000000

557015 =5 x 101 x 1103 x 1

oooo
2P + 1 = 5(204204n + 111403)

o00obOobOO0o0os000b000O000ODbO0ODODbOUOObOO0ODbDODObODObOOODbDObDODbDOn
goo

Q=2785130000
P = 510510n + 278513

2P + 1 = 2(510510n + 278513) 4+ 1 = 10210201 4 557026 + 1 = 10210201 + 557027
0000010210200 20 2003,5,7,11,13,17000000 1000000

557027 = 557027 x 1

o000 10210200 0000000000000

2P 41 =510510m + 46517

gboboobogobooboboobboobbooobuoonooboon

Q=2785190000
P = 5105100 + 278519

2P + 1 = 2(510510n + 278519) 4 1 = 10210201 + 557038 4+ 1 = 10210201 4 557039
0000010210200 20 2003,5,7,11,13,17000000 10000000

957039 =7 x 17 x 31 x 151 x 1

oooo
2P + 1 = 119(8580n + 4681)

oooooooolyoogoooooooooooboooooooOobo0ooooooDoooDboo
good

Q=2785210000
P = 510510n + 278521

2P + 1 =2(510510n + 278521) + 1 = 10210201 + 557042 + 1 = 10210201 + 557043

0000010210200 20 2003,5,7,11,13,17000000 10000000

557043 = 3 x 185681 x 1

oooo
2P + 1 = 3(340340n + 185681)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2785270000
P = 510510n + 278527

2P 4+ 1 =2(510510n + 278527) + 1 = 10210201 + 557054 + 1 = 1021020n + 557055

0000010210200 20 2003,5,7,11,13,17000000 10000000

957055 =3 x 3 x 5 x 12379 x 1

oooo
2P +1 = 15(68068n + 37137)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=2785330000
P = 510510n + 278533

2P 4+ 1 =2(510510n + 278533) + 1 = 10210201 + 557066 + 1 = 1021020n + 557067

0000010210200 20 2003,5,7,11,13,17000000 10000000

557067 = 3 X 7 x 41 x 647 x 1

oooo
2P + 1 = 21(48620n + 26527)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=2785390000
P = 510510n + 278539

2P + 1 = 2(510510n + 278539) + 1 = 10210201 + 557078 + 1 = 10210201 + 557079
0000010210200 20 2003,5,7,11,13,17000000 10000000

557079 = 3 x 185693 x 1

good
2P + 1 = 3(340340n + 185693)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=2785430000
P = 5105100 + 278543
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2P + 1 =2(510510n + 278543) + 1 = 1021020n + 557086 + 1 = 1021020n + 557087

0000010210200 20 2003,5,7,11,13,17000000 1000000

557087 = 557087 x 1

o000 10210200000000000000O0

2P 41 =510510m + 46577

gboboobogobogoboboobboobooobooooboon

Q=2785490000
P = 5105100 + 278549

2P + 1 = 2(510510n + 278549) 4+ 1 = 10210201 + 557098 + 1 = 10210201 4 557099
0000010210200 20 2003,5,7,11,13,17000000 1000000

557099 = 19 x 109 x 269 x 1

o000 10210200 000000000000

2P +1 =510510m + 46589

gbbooggbogoboobbugobboobbooobuoonbagn

Q=2785570000
P = 510510n + 278557

2P 4+ 1 =2(510510n + 278557) + 1 = 1021020n + 557114 + 1 = 1021020n + 557115
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

957115 =3 x5 x 13 x 2857 x 1

oooo
2P + 1 = 195(5236n + 2857)

oo0oboOobOoo9 0000000000 boboobooooo0oobobobOoDoOooDOoboon
good

Q=278561 0000
P = 510510n + 278561

2P 4+ 1 =2(510510n + 278561) + 1 = 1021020n + 557122 + 1 = 1021020n + 557123
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